
S1

Supporting Information for

One-Pot Synthesis of 1,4-
Disubstituted 1,2,3-Triazoles
from in situ Generated Azides
Alina K. Feldman, Benoît Colasson, and Valery V. Fokin*

Department of Chemistry and the Skaggs Institute for Chemical Biology

The Scripps Research Institute, 10550 N. Torrey Pines Rd.,

La Jolla, California 92037, USA.

fokin@scripps.edu

1H and 13C NMR spectra were recorded on a Bruker AMX- 400, AMX-500 or

AMX-600 spectrometers in CDCl3 or d6--DMSO with CHCl3 (7.27 ppm for 1H, 77ppm for
13C) and DMSO (2.50 ppm for 1H, 39.5 ppm for 13C) as standards. All melting points

(mp) were taken on a Thomas Hoover Uni-melt melting point apparatus, and are

uncorrected. Reagents and solvents were purchased from Aldrich, Acros or GFS and

used without further purification.

N

N

N
N

N
N

 3a



S2

mp: 207-210 °C; EMS: m/z = 341.1 [M+H]+, calcd 341.1 [M+H]+. 1H NMR (400MHz, d6-
DMSO)  8.68 (s, 2H), 7.86 (d, J = 8.2 Hz, 4H), 7.45 (t, J = 8.2 Hz, 4H), 7.33 (t, J = 7.0
Hz, 2H), 4.17 (s, 4H); 13C NMR (400MHz, d6-DMSO)  146.7, 130.6, 129.0, 128.1,
125.3, 121.5, 79.4.

N N
NN

NN
Ph

Ph
 3b

mp: 159-160 °C; EMS: m/z = 343.1 [M+H]+, calcd 343.2 [M+H]+. 1H NMR (600MHz, d6-
DMSO)  8.54 (s, 2H), 7.85 (d, J = 8.3 Hz, 4H), 7.44 (t, J = 8.2 Hz, 4H), 7.33 (t, J = 7.4
Hz, 2H), 5.13 (s, 4H), 5.12 (s, 2H); 13C NMR (600MHz, d6-DMSO)  146.5, 139.2, 130.6,
128.9, 127.9, 125.2, 121.9, 110.4, 51.8.

S
N

N
N

N

3c

mp: 62-65 °C; EMS: m/z = 231.1EMS: m/z = 231.1 [M+H]+, calcd 341.1 [M+H]+. 1H
NMR (400MHz, d6-DMSO)  8.06 (s, 1H), 7.30 (m, 4H), 7.16 (t, J = 8.2 Hz, 1H), 5.67 (s,
2H), 4.27 (s, 2H); 13C NMR (400MHz, d6-DMSO)  144.7, 135.2, 129.1, 128.2, 126.1,
124.1, 124.0, 114.9, 37.2, 26.7.

N

N

N

N
N

NN

N
N

3d

mp: 219-220 °C; EMS: m/z = 550.3 [M+H]+, calcd 550.2 [M+H]+. 1H NMR (500MHz, d6-
DMSO)  8.60(s, 3H), 7.80 (d, J = 8.4 Hz, 6H), 7.41 (t, J = 7.3 Hz, 6H), 7.33 (m, 6H),



S3

5.65 (s, 6H); 13C NMR (400MHz, d6-DMSO)  146.7, 137.3, 130.6, 128.9, 127.9, 127.2,
125.2, 52.5.

Ph
N

NN

3e

mp: 165-171 °C;  EMS: m/z = 222.1 [M+H]+, calcd 222.1 [M+H]+. 1H NMR (500MHz,
CDCl3)  8.33 (s, 1H), 7.97 (d, 2H), 7.82 (d, J = 8.1 Hz, 2H), 7.57 (t, J = 7.9 Hz, 2H),
7.49 (t, J = 3.3 Hz, 2H), 7.35-7.41 (m, 2H); 13C NMR (500MHz, CDCl3)  130.5, 129.6,
129.5, 129.2, 126.5, 121.3.

Ph
N

NN

3f

mp: 90-91 °C; EMS: m/z = 226.1 [M+H]+, calcd 226.1 [M+H]+. 1H NMR (400MHz, d6-
DMSO)  8.79 (s, 1H), 7.90 (d, J = 8.5 Hz, 2H), 7.56 (t, J = 7.6 Hz, 2H), 7.47 (t, J = 7.4
Hz, 1H), 6.53 (s, 1H), 2.40 (br s, 2H), 2.18 (br s, 2H), 1.72 (m, 2H), 1.63 (m, 2H); 13C
NMR (400MHz, d6-DMSO)  149.0, 136.7, 129.8, 128.4, 127.1, 124.3, 119.8, 117.9,
25.8, 24.7, 22.0, 21.8.

Ph
N

NN

OH

3g

mp: 52 °C; EMS: m/z = 204.1 [M+H]+, calcd 204.1 [M+H]+. 1H NMR (600MHz, CDCl3) 
7.80 (s, 1H), 7.68 (d, J = 7.9, 2H), 7.45 (t, J = 7.9, 2H), 7.39 (t, J = 7.4, 1H), 3.72 (t, J =
6.1, 2H), 2.90 (t, J = 7.5, 2H), 1.98 (q, J = 6.6, 2H); 13C NMR (600MHz, CDCl3)  148.2,
137.0, 129.6, 128.5, 120.3, 119.3, 61.3, 31.9, 21.8.

Ph
N

NN
NEt2

3h

EMS: m/z = 231.1 [M+H]+, calcd 231.2 [M+H]+. 1H NMR (500MHz, CDCl3)  8.06 (s,
1H), 7.75 (d, J = 8.0 Hz, 2H), 7.54 (t, J = 5.3 Hz, 2H), 7.44 (t, J = 7.4 Hz, 1H), 3.94 (s,
2H), 2.68 (q, J = 7.0 Hz, 4H), 1.16 (t, J = 7.0 Hz, 6H); 13C NMR (400MHz, CDCl3) 
130.1, 129.0, 121.6, 120.8, 48.0, 47.1, 11.8.

Ph
N

NN

NH2

3i



S4

mp: 121-124 °C; EMS: m/z = 237.1 [M+H]+, calcd 237.1 [M+H]+. 1H NMR (400MHz, d6-
DMSO)  9.15 (s, 1H), 7.97 (d, J = 7.6 Hz, 2H), 7.64 (t, J = 7.6 Hz, 2H), 7.48-7.53 (m,
1H), 7.21 (t, J = 1.9 Hz, 1H), 7.12 (t, J = 7.9 Hz, 1H), 7.04 (dt, J = 7.7 Hz, 1H), 6.56
(ddd, J = 7.9, 2.4, 0.9 Hz, 1H), 5.23 (s, 2H); 13C NMR (400MHz, d6-DMSO)  149.2,
148.1, 136.7, 130.7, 129.9, 129.5, 128.6, 120.0, 119.2, 114.0, 113.3, 110.6.

Ph
N

NN

H2N OH

O

3j
EMS: m/z = 233.1 [M+H]+, calcd 233.1 [M+H]+. 1H NMR (400MHz, d6-DMSO)  9.31 (s,
1H), 8.00 (s, 1H), 7.59 (m, 2H), 6.95 (s, 2H), 6.50 (s, 2H), 6.43 (s, 1H), 4.97 (br s, 2H),
2.95 (m, 1H); 13C NMR (600MHz, d6-DMSO)  128.9, 115.6, 113.9, 40.4.

Ph
N

NN O Cl

3k

mp: 105-107 °C; EMS: m/z = 286.0 [M+H]+, calcd 286.1 [M+H]+.1H NMR (400MHz, d6-
DMSO)  8.97 (s, 1H), 7.90 (d, J = 7.9 Hz, 2H), 7.60 (t, J = 8.0 Hz, 2H), 7.49 (t, J = 8.0
Hz, 1H), 7.33 (d, J = 7.6 Hz, 2H), 7.11 (d, J = 8.8 Hz, 2H), 5.24 (s, 2H); 13C NMR
(400MHz, d6-DMSO)  156.9, 143.6, 136.6, 130.0, 129.4, 128.9, 124.8, 123.1, 120.2,
116.6, 61.3.

Ph
N

NN O OMe

3l

mp: 97-99 °C; EMS: m/z = 282.1 [M+H]+, calcd 282.1 [M+H]+. 1H NMR (500MHz, d6-
DMSO)  8.12 (s, 1H), 7.75 (d, J = 8.0 Hz, 2H), 7.54 (t, J = 7.7 Hz, 2H), 7.46 (t, J = 7.4
Hz, 1H), 6.98 (d, J = 8.8 Hz, 2H), 6.86 (d, J = 8.5 Hz, 2H), 5.26 (s, 2H), 3.79 (s, 3H).

Ph
N

NN O
O

3m

mp: 144-145 °C; EMS: m/z = 294.1 [M+H]+, calcd 294.1 [M+H]+. 1H NMR (400MHz, d6-
DMSO)  8.97 (s, 1H), 7.93 (d, J = 8.5 Hz, 2H), 7.89 (d, J = 7.6 Hz, 2H), 7.58 (t, J = 7.6
Hz, 2H), 7.48 (t, J = 7.0 Hz, 1H), 7.17 (d, J = 8.5 Hz, 2H), 5.33 (s, 2H), 2.50 (s, 3H); 13C
NMR (400MHz, d6-DMSO)  196.4, 161.8, 143.4, 136.5, 130.5, 130.2, 129.9, 128.8,
123.1, 120.2, 114.6, 61.3, 26.5.



S5

N

NN NEt2

Br 3n

EMS: m/z = 309.1 [M+H]+, calcd 309.1 [M+H]+. 1H NMR (400MHz, CDCl3)  8.05 (s,
1H), 7.65 (s, 4H), 3.92 (s, 2H), 2.66 (q, 4H), 1.15 (t, 6H); 13C NMR (400MHz, CDCl3) 
136.0, 132.8, 122.2, 121.8, 121.0, 47.6, 46.7, 11.4.

N

N

N
N

N
N

Et2N

NEt2

3o

mp: 135-138 °C; EMS: m/z = 383.5 [M+H]+, calcd 383.5 [M+H]+. 1H NMR (500MHz,
CDCl3)  8.25 (s, 1H), 8.17 (s, 1H), 7.95 (s, 4H), 4.00 (s, 2H), 3.97 (s, 2H), 2.72 (q, J =
7.0 Hz, 8H), 1.19 (t, J = 7.0 Hz, 12H); 13C NMR (500MHz, CDCl3)  137.5, 122.9, 122.2,
115.4, 48.3, 47.4, 47.3, 12.1, 11.8.

N

N

NN

NEt2

3p

EMS: m/z = 232.1 [M+H]+, calcd 232.2 [M+H]+. 1H NMR (400MHz, CDCl3)  9.02 (s,
1H), 8.70 (d, J = 4.0 Hz, 1H), 8.15 (dt, J = 8.2, 1.4 Hz, 1H), 8.08 (s, 1H), 7.50 (dd, J =
8.4, 4.8 Hz, 1H), 3.92 (s, 2H), 2.66 (q, J = 7.2 Hz, 4H), 1.15 (t, J = 7.0 Hz, 6H); 13C NMR
(400MHz, d6-DMSO)  149.4, 145.3, 141.1, 133.4, 127.6, 124.6, 122.0, 46.6, 46.1, 11.9.

N

N N
N

3q

EMS: m/z = 251.2 [M+H]+, calcd 251.2 [M+H]+. 1H NMR (500MHz, CDCl3)  7.67 (s,
1H), 7.09 (d, J = 14.3 Hz, 1H), 6.19 (dt, J = 14.3, 7.0 Hz, 1H), 3.80 (s, 2H), 2.56 (q, J =
6.9 Hz, 4H), 2.21 (m, 2H), 1.50 (m, 2H); 1.33 (m, 4H), 1.09 (t, J = 6.9 Hz, 6H), 0.9 (m,



S6

3H); 13C NMR (500MHz, CDCl3)  124.2, 123.1, 119.5, 47.6, 46.8, 31.2, 29.6, 28.6, 22.4,
14.0, 11.8.

N

N N
N

N

 3r

EMS: m/z = 266.2 [M+H]+, calcd 266.2 [M+H]+. 1H NMR (500MHz, CDCl3)  7.71 (s,
1H), 7.28 (d, J = 6.6 Hz, 1H), 6.21 (dt, J = 14.7, 6.6 Hz, 1H), 3.81 (s, 2H), 3.26 (d, J =
6.6 Hz, 2H), 2.58 (m, 8H), 1.08 (m, 12H); 13C NMR (400MHz, d6-DMSO)  143.5, 125.9,
121.3, 118.8, 50.8, 46.0, 45.9, 45.8, 11.5, 11.3.



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /SyntheticBoldness 1.00
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /ENU (Use these settings to create PDF documents with higher image resolution for improved printing quality. The PDF documents can be opened with Acrobat and Reader 5.0 and later.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


